1. -\3x \/gx \/2—3—7&%61 5}m9

vz @©-vz ovi @-v3 o+

2 \/§ 2 3
—\/§><\/;x 5=- 3x§x§_—\/§




2. V175 =aV7,V1200 = bV3 L W, ab O] o B AUt A S V=
H?

—

® 80 @ 100 @ 120 @ 140 ® 160

&8 \

VIT5 = V52 x 7 =57
V1200 = V22 x 3 x 102 = 20V3
a=>5b=20

s ab = 5x%20 =100




® V6

@ 5

o V_Aﬁ
2 [slg L

ja

NE







4+ V3 ,2-3

7 3} 7 o] gr& FLshdA?
@9«/525«/6 ® 9\/§g5«/6 5 5«/529\/6
@ 5«/§g9\/6 6 —5«/§6+9«/6

B
4+V3 2-V3
V2 V6
_(4+\/§)X\/§+(2—\/§)><\/5
V2 x V2 V6 x V6
:4«/§+x/6+2«/€—3«/§

2 6
_12v243V6+2V6-3V2
B 6
_9V2+5V6

6




V2 4, ko g2

£
— =

1
“ 6

® 6

— ™

@ 3

Sle
Il

S

e —lo

ORI
B -k -




7. -3 _ANEU U A9 gor 2L ALY

243
1 1

B

N w

3 3xV3 1
23 2v3x V3 2

—%«/§:A«/§OIE§

V3

SLA=——
2




12Y8 o ug geostsrge Y 2v60] Sk of o), A%
iz

o gre?

V2 V2 V2
oX oy @OF ov 02

Bl

12+a  12+a V3 12v3a

Viz 25 “VE 6 2YRee
3a=6°]22 q=2

o1 Ix V2 2
Va2 V2x V2 2




w 3VI0- VIS

: o] £E fasletH?

) o enE gl
p 1025 o W50
©rac=All @ HVEH VD

-15v2 + 3V10
©f
(%/\1):(3m—\/ﬁ)x\/5_15\/§_3m

V5 x VB B 5




\/5:
ov: 0¥ ov @F o
&8
i 53 1 5
wagx\/;‘vaxmxﬁ

~3v5 3VEx V3

443 4V3x V3

Ve

4




0 \/5
2
62
| ® @3\/5 ®
_‘/5 DAY
2\/5_6;/5_ |
=342




2(3V10- v2) - V2(8 V5 -1) =aV2+ b V10 & ™, a + b O] FH-2?
&, a, b= 5ol

® -11 @ -5 ® 10 @17 ® 23

12(3V10 - v2) - V2(8V5-1)
=36V10-12V2-8VI0+ V2 = -11 V2 + 28 V10
L a=-11,b=28>a+b=-11+28=17




o
=

o, a+b 9 F

St
=

b=t

StH?

;’_L

® V5-1

@ V5+1
® V5-2

@ vs

@ V542




14.




15. o 2™ A5uA 9] F1]7} 48 V3em?® &
x ©] Aol Fopd?

® v2cem @)2cm ® 3v2cem

26 X 6V2 x x = 48 V3
24/3x = 483

Lx=2




